A NEW SERPENT

This new model has been introduced in
response to the current demand for
authentic styles of musical instruments
and is based on a surviving French
serpent of about 1750.

It is constructed in two halves by
moulding to close tolerances both inside
and out. The synthetic material used for
the mouldings closely resembles
hardwood in density and working
properties but is not subject to splitting
and warping and is unaffected by
moisture. It is not threatened by the
dryness of centrally heated interiors or by
wide variations in heat and humidity. It is
also very shock resistant. The exterior of
each instrument is given a textured
coating which has a visual resemblance
to the black leather covering of original
serpents.

The crook is made from seamless brass
tube and is provided with the traditional
thread binding to ensure a leak-tight fit
with the body of the instrument. The
serpent is pitched in A=440 with the
standard crook and descends to C'. The
mouthpiece is turned from an ivory
coloured plastic.

The serpent is sounded by the lip-reed
technique of brass instruments, but many
of the notes are found with the aid of
woodwind style finger holes.
Consequently, the serpent is played with
a hybrid technique suited to such a hybrid
instrument.

From the bottom C' to the f of the second

octave, the finger holes are uncovered
progressively to produce a rising scale,
with much help from lip adjustments.
Thereafter, the higher notes are obtained
by sounding the natural harmonics of the
tube, either with all finger holes closed,
or with a few holes vented at strategic
points, again with help from the lips.

The fingering chart reproduced here
shows how this can be achieved, but
many variations are possible depending
on the skill and choice of the player. A
few notes below the range shown are
available if the lips are relaxed to a
sufficient degree.

Fingering chart for keyless

serpent in C
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